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1 If n MHz clock signal .is. applied to a T - flip ﬂop_when T=i, the output

signal frequency is given by :
n :
(1) EMHz (2) nMHz

() 2nMHz 4)  2"MHz

afy T - flip lop § nMHz % Whd ST ¥, @ FeMm. doa
g Al

(1) %Mﬂz ?) nMHz

3) 2nMHz @ 9" MHz

2 Select true statement which explains relation between number of page
frames and hit ratio in demand paging.

(1) Hit ratio increases as number of page frames increases.
(2) Hit ratio decreases as number of page frames increases.

(3) Hit ratio first increases in number of page frames and then decreases
if number of page frames further increases.

(4) Hit ratio first decreases in number of page frames and then increases
if number of page frames further increases.

_Eﬁﬁﬂ#ﬁﬂﬁ?ﬁ%ﬁﬂﬁﬁpageframeaﬁ@@ﬁﬁﬁzm?ﬁ
Sra gy @ T ¥ Raig IR % deef )

(1) T %W @ gEn T W B ogum ged@ ¥

@) U B A dEnm Wy W R aguw w3

(3) A WH BN wem T ¥ fe s wEd ded ¥ ok f6 we s
¥ ol 39 BH @ gedr & §edl §)

(@) A9 ¥ @ "en wed W R smia uew wedn ¥ &fit fist 3T W

%ol A @ g R W ¥
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Find regular grammar over the alphabet {a b} for Lang,uage "String

containing aba as a subsiring’.

-

(1) a*b*a
@) a*b a*
@) (ab)*a
(4) (atb)* aba (atb)*

ﬁﬁwﬁmﬁm{@}%%qﬁaﬁamwa@hm% ¢ W
¥ fgm & aba wH wefEwW ¥

(1) a*b*a
(2) a*b a*
(3) (ab)*a
(4) (atb)* aba (a+b)*

4 Suppose computers A and B have IP address 10.105.1.113 and 10. 105.1.91
respectively and they both use the same subnet mask N. Which of the
values of N followng should not be used if A and B should belong to
the same network ? '

(1) 255.255.255.0
(2) 255.255.255.128
(3) 255.255.255.192
(4) 255255255.224

Computer A & Computer B % IP W& %A 10.105.1.113 IRy
10.105.1.91 ¥ ol 3 & e wieh N & &W ¥ 9 ¥ | N & @
A ou E wEm N TS e Ot U A9 B U 8 emd ¥ 7

(1) * 255.255.255.0

(2) 255.255.255.128
(3) 255.255.255.192
(4) 255.255.255.224

3351 COMPSCLA 3 MR (Conta--
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For given F1, F3 and F in canonical sum of product (SOP) form (in decimal)
for the circuit, compute F2,

Fi B—
F2 g—— F

Fr @

F1=3¥m(4,56,78), F3=Ym(16,15), F = Zm(1,6,8.15)
(1) 2m(4.6) |

@ Xm(4.8)

@) Xm(6.8)

@ Y m(4,6,8)

 faw T weT Fl, F3 8t Feﬁﬁsﬁﬁww"mﬁm (SOP) (zePTera)
A F2 & Wil |

) Bt ~—F

Fi &

F1=3,m(456,78) F3= S m(1,6,15), F = 3. m(1,6,8,15)
1y XY.m(4,6)
@ m(48)
(3) . .m(6,8)

@ Y m(4,6.8)
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The following is the Hasse diagram of the poset [{abcde} <] the
poset is:

/|\
\I/

(1) Not a lattice |
(2) A lattice but not a distributive lattice
(3) A distributive lattice but not a boolean algebra

(4) A pentagonal lattice

f=r e poset [{a,b,c.d.el, <jIEFl %‘H fazr %, ar poset.:

/\
|/

(1) dfm & %

@) fm ¥ ig RaRe dfm 98 ¥

3) ﬁaﬁﬁ%ﬁﬂ%m@aﬁmﬁaﬁmﬂﬁ%
() T femi AR 3 |

No. of flip flop required to divide input frequency by 32 is :

w3 @ 4
@) 5 @ 6
g amgft @ 32 ¥ um 2 % g B B i afeg 7
(1 3 Q) 4
@) s @ 6

th
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For a graph having N number of nodes and E number “of edges, number
of edges not participating in its spanning tree will be :

H E (2) N*E
(3) E-N+1 (4) N+E-2

uF WE ey N nodes afiX E &IX (Edges) %,Bﬁﬁﬁffﬁmﬁ
Afm O F wm =S o« w® E, el

1 E (2) N*E

(3) E-N+1 (4) N+E-2

Context switching is

(1) Changing priority of a process to swap

(2) Converting a process into thread

(3) Assigniqg other process or thread to processor -

(4) Switch between two contacts
drae R ¥ |

(1) WG H T @ aEdl GG
Q) woE W &= ¥ uiaffa s o
(3) TR W o wEw w4 g
'e)) a‘rﬁ%@a % d1 7 feg =

The hexadecimal representation of (176} is :
(1) 34 ' 2) 7TE

(3) 124 4 16
(176), =t ¥Twmfrra A fedd |

(1) 34 (2) 7E

(3) 124 4 16

335/ COMPSCL A 6 [WHIERAIREANY 1Coned...
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Which of the following protocol is related to message format in Electronic
mail or e-mail 7

(1) RFC 821 (2) RFC 822

(3) Both (1) and (2) (4) ~ None of these
$fm % Wy wET ¥ whE WdEE ¥

(1) RFC 821 | @ RFC 822

(3) (1) &fT (2) @ @ T W ™

Suppose that we have numbers between 1 and 1000 in binary search tree,
and we want to search for the number 363. Which of the following sequence
could not be the sequence of node examined ?

(1) 2, 252, 401, 398, 330, 334, 397, 363

(2) 924, 220, 911, 244, 898, 258, 362, 363
(3) 925, 202, 911, 240, 912, 245, 363

4) 2, 399, 387, 219, 266, 382, 381, 278, 363

T TE wH aRAd ' A E, Rrg ¥ 1 ¥ 1000 @ dend §, @
dEn 363 H GO UEN ¥ lﬁwﬁ@fﬁ-—ma@mnodes%tr&aw

_ma!j,mﬂﬂé‘r%?

(1) 2, 252, 401, 398, 330, 334, 397, 363

(2) 924, 220, 911, 244, 898, 258, 362, 363
) '925, 202, 911, 240, 912, 245, 363

@) 2, 399, 387, 219, 266, 382, 381, 278, 363

Model based testing is :

(1) Unit testing (2) White box testing
(3) Grey box testing (4) Random testing
niew enufa P& ¥

(1) gfre @) o afF R
Gy ¥ <t e @) T e

-1
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Even parity checking function —

(1) Passes data with even number of 1's
(2) Passes data with odd number of 1's
(3) DPasses data with even number of 0's

(4) Passes data with odd number of 0's

T gHA WA B e -

() @9 den & 1 9@ =@ ® i s ¥
(@) Freq gen % 1 AW T @ WRE B ¥
(3) WW T ¥ 0 9 sy & WhE Bl ¥
(4) freq dem F 0 9 T W TR B §

The IEEE software maturity index is used to provide a measure of
the :

(1) Maintainability of a software product based on its availability
(2) Relative age of a software product being considered for retirement
(3) Reliability of a software product following fegression testing

(4) Stability of a software product as it is modified during maintenance

[EEE #=if gas &% Wuess Il §
(1)m@muﬁwa&ﬁ%ﬁﬁﬁ@rwwﬁ3w&m%mﬁw
@) TR & femr 89 @ any 5 @ |

(3) faree M ¥ T SRR B ReawiEar B

(@) ﬂ%ﬁﬁ:ﬁlﬁ%ﬁé‘maﬁaﬁwﬁaﬂﬁﬁammmzﬁﬁmﬁw

For sliding window of size n—1 (n sequence numbers) there can be

maximum of frames sent but unacknowledged.
(1) ¢ 2 n-1
@) .n 4 n+1

(n—1) ofmm % wwRn R (o ageae o), efway ————
—_ %H w wmd 3, W B %9 Ru @ /e s &

1 o | @ n-1

(3) n 4 n+1

335/ COMPSCLA] B (TR (Coned...
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If L is a language recongmzable by a finite automata, the language
REVERSE (L}={W|W is the reverse of V where Vel} isa:

(1) Context free languége

(2) Context sensitive ianguage

(3) Regular language |

(4) Recursively enumerable language

Al WETE SIS BT USHE W A WE 9 L ¥, i1 REVERSE
(L)={W|W, V & REVERSE ¥ & Vel} % : |

(1) ao-éwzu?rmm

(2) wewre Ffufear wmr

¥ g

(4) fodhae sgrme wm

Which of the following describes, the minimum condition for ambiguity
in a grammar ?

(1) Every derived word must have at least 2 right most derivations
(2) Some words must have more than one left most derivation
(3} A derived word has one right most and another left most derivation

(4) Each derived word has two left most and two right most derivations
AT F oz B oG g wr aohr d o

() ¥WITT 5 9= § 9 & &9 & Td gopw € aivg.

2 T = ¥ w ¥ aftm @i gww A Ry

() @ T Y 9= { TF @ SR B oG A e B wi
() W% T g v ¥ d A o @ A A b

335/ COMPSCLA] ? I Contd...
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19  Suppose that L, and L, are two problems such that L, converts into

L2

(1

)

(3)
Q)

in polynomial time. Then which of the following is correct 7
L, e P implies Ll eP
L e P implies L, € P

Both belong to NP

None of these

L o L, & mem ¥ fred L,L, ¥ dfwfaw @ ¥ aieiia ®
Tt I P A A B W R

M

@

3)
)

L,eP grgs L eP

LlePgna{gGrLzeP
A Np & waRE ¥
SYqRS WS T

20 Given G ={{S},{a,b},{SeaslaSbS\e},S}. L'(Gl) contains :

(1)

2)
3)

4)
qie
(1
(2)
)

“

Set of all strings having more a's than b's
Set of all strings of the form g"b* n>=0

Set of all strings where each prefix contains at least as many a's
as b's

None of these
G1={{S},{a,b},{$‘—>as|aSbSie},S} t A L(G) % ¥ :

o st Rgre w1 wge Rew b § oftw a ¥

Lt TR @ adl Rg w wged, a>=0 ¥ T
mq@ﬁﬂaﬂﬂﬁraﬁaﬂ%ﬁﬁfﬂtﬁﬁﬁﬂﬁm%wma%
et b | |
U g T

335/ COMPSCLA] 10 L
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- A logical circuit used to change a BCD number into an equivalent decimal

number is :

(1). Decoder {2) Encoder

(3) MUX ) (4) Code convertor

BCD w&m & symea ¥ uiaffa & amr addw oy ¥
(1 Temrex Q) UTTBET

(3) W@ (MUX) @ @ FEX

The tir_né and space complexity of a carry look ahead adder are respectively,
(where n is the number of bits in the numbers to be added).

(1) o(logn), o(nlogn) (2) o(nlogn), o(logn)
3) o(m), o(D) (4) o(n’logn), o (n)
&0 gH e U o TN ud W wrAtRE wmEn ¥
(n w8l ST WA Al el ¥ A faew @ oden ¥)
(1) o(logn), o(nlogn) (2) ofnlogn), o(logn)
G) o), o(l) (4} o(n*logn), o(n)

As the packet size becomes longer, the packet switching become more
suitable for

(1) Data communication

(2) Voice and video communication

(3) Data, voice and video communication

(4) None of these

S~ Y e 1 R wea ¥ e Rafin P ¥ @ Rowd Rie ofew
AYFE Bl W § 7

(1)  Brel éirr(.

(2) = v EE FgER

() sw@, Tg @@ dfeE dER

@) SR B

335/ COMPSCLA] 1 [IWENINY (Coned...
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How many 4:16 line decoders are required to design an 8:256 line decoder ?
(1) 8 2) 16 -
3) 17 | 4) 21

8:256 aﬁ?%ﬁa%ﬁmﬁﬁ%@ﬁﬁﬁ 4:16 WEA f5heT BN ArEFHl
w7

(1) 8 (2) 16

Gy 17 @ 2

25 In C++ when an exception is not. caught, the program is
(1) Running smoothly | (2) Aborted. o
(3) Halt | (4) None of these
afr i+ ¥ wom d cRwgE eftpRa T @ A
(1) gas &1 d Gam (2) T SR
@) wF TR : (4)mﬁ?raﬂ§'=r€f'
26  Methods dealing with optimizing the overall flow of demand and supply
data is known as : "
(1) Inteliigent resource planning
(2) Capacity requirement planning
(3) Material requirement planning
(4) None of these
o o & Tewdwr B I ¥
() gfwdte REd <ifm
) Ff i <fm
G¢) wafEw feamde |t
(@) wTR B T
335/ COMPSCLA 12 [N 1Contd--
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The following diagram represenis a finite state machine which takes as
input a binary number from the lcast significant bit

0/0 0/1

——}8—-——};—]-——-—)8 1/0
Qq Q

Which statement is true ?
(1) It computes l's complement of the input number

(2) 1t computes 2's complement of the input number

(3) Il increments the input number

(4) 1t decrements the input number

ﬁqﬁawqﬁﬁamwﬁﬁﬁam%--wﬁaaﬁmmw'

fazﬁqzsftwmﬂawﬁﬁ%m%wﬁﬁm%

/0 0/1
Vi
—{ J————> 1/0
Qo Q

aﬁﬁmzﬁeﬁraﬁ% ?
(l)zrgﬁ%memﬁslszﬁmﬁﬂzmaﬂwm%
(Zju%ﬁiﬁﬂarﬁ%sz'sasmﬁﬂzzmmﬁaﬂﬂm%
@3) ue Prw oiw @ ghy w@ ¥

(4) Tz PRy o W TRl ¥

Heap allocation is Irequired for languages

(1) That support recursion

(2) That support dynamic data structure

(3) That use dynamic scope rules

(4) None of the above

oo aiges feq wwel & g omEsEs ¥ 7
@) s Paxe & wE FE Y

2) & sifE ¥4 GER H AR B E
(3) S sEife @ Pt @ ww N W ¥
4) Sole @
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29 * The maximum number of bmary trees that can be formed with three
unlabeled nodes is
(1y 1 2 5
3) 4 ' @ 6
?ﬁ?ﬁmﬁﬂﬁiﬁﬁnodcsﬁaﬁwﬁﬁa‘ﬁmﬁﬁmvﬂ
g & 7
i 1 @) 5
® 4 @ 6
30 B* trees are preferred fo bmnary trees in database because —
(1) Disk capacities are greater than memory capacities.
(2) Disk access is much slower than memory access.
3 Disk data transfer rates are much less than memory data transfer rates.
(4) Disks are more reliable than memory.
.méaﬁmafﬁfarmﬂﬁi’r@f%wwﬁrw%a@ﬁﬁ-
(M %@wﬁﬁﬂm@raﬂméﬁr%i
2) o afpm A ot @ om BT T
3) WW?WWR@AWWW%I
) T ARG A oftes Rrewed ¥
31 Consider a Relation R (A, B, C, D, E) with functional dependency
A— BCDE |
BC - ADE
D—-E
The highest normal form achieved by R is
(1) 1INF (2) 3NF
(3 2NF (4) BCNF
qfy e €Y (Relation) R (A, B, C, D, B) gad FrewTa (Functtonal
dependency) ¥
A— BCDE
BC —» ADE
D-E
& R ER WE SeEdN THE W §
(1) INF (2) 3NF
(3) 2NF (4) BCNF
335/ COMPSCL A o B Conta--
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32 Which of these techniques is not useful for partition testing at the:
class level ?. :

(M
)
€)
4

Attribute - based partitioning
Categbry - based partitioning
Equivalence class partitioning

State - based partiti.oning

T A BE TS class 'R WX fawe R N om w® e ¥ 7

()
2
(3)
(4)

Uiz anaia R
BT e Reas
we i R

33 In JK flip flop, for same input i.e. at a particular time or during a clock
pulse, the output will oscillate back and forth between 0 and 1. At the
end of the clock pulse, the value of output is uncertain. The 51tuat10n is

reffered to as,

(D
@
()
4

Conversion condition
Race around condition
Lock out state

None of these

JKﬁmqwrmﬁ wﬁﬁﬂawwmwww%%ﬂ?mﬁ
ﬁ[&mmﬁwﬁﬁqoml%ﬁaﬁwmlmm%m
4 frim affyos @ 1| @ Rafy @ d<ffe femr s %

(1)
@)
()
4)

335/ COMPSCL A] ' 1
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36

Whlch of the following is not a combinational circuit 7
(1) Encoders (2) Decoders

(3) Registers | (4) Multiplexers
el § ¥ wrE o ofwg T Y7

(1) TR @) T

¢ dwex @ R

The two wire connections between each subscriber's telephone and the end

office are known as !
(1) Switches (2) Local central office

3) Local loop (4) Toll office
m‘ﬁiﬂ%‘ﬁﬁ@l‘faﬂ?aﬁm%mzmﬁeﬁﬂmﬁm%:
() Faa @) W dgw SANed

(3) e €9 (4);*[’61 g -

Which of the following is a. thrleat for electronic paymeht system 7
(1) Trojan Horse 2) Comﬁuter virus

(3) Computer wor;n @) Al of the above

et e R @ B ¥ ¥ el wE ¥ 7

)y 2w (@ TR AW

(3) &g diH @) SwE @l

‘ws/coMpscLAl 16 IR (Conte--
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37 The major drawback of B tree is the difficulty of traversing the keys

sequentially. The tree retains the rapid random access property

of the B-tree while also allowing rapid sequential access.

(1)
2)
€)
(4)

AVL

B+

Binary

Heighted balanced

B tree bl Jea &l §, N & whtw alid & mawpor  wiow |
ﬁaﬁamﬁmmﬁwmw%awaﬁaa@%@mmaﬁﬁam
Bt At qIW W@ ® L

(D
@)

(3)

(4)

AVL
B+
Binary

Heighted balanced

38 Implementation of an inverted list to maintain the record list for each value

for a given attribute can be done by —

0

2
()
@)

Sequential file
Direct file
Indexed file

Indexed sequential file

mﬁaﬁwmwwm%mww é’rﬂ%ﬁw‘mm
% foo, fpar s w@war & -

t) ﬁra%ﬁsm"&rwéﬁrﬁ

(2) SEWR wRA ¥

(3) RS wEA ¥

@) Pies qPu wEw ¥

'+ 335/COMPSCLA] 17 MU (Contd..
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" Replacement policies for different pages are required when
(1) There are no unused page frames in main memory

(2) Allocation of new incoming items is done

(3) Both (1) and 2)

(4) None of these

o o % R P e @ onawRd & 9@
@) A A # B¢ R s R ge A W T @
(2) wwmmﬁmﬁmmmmé‘r

(3) wudE A

(4) Sriad § ¥ @y @

Fixed head diské usually have

(1) A separate read l. write head

(2) A common read / write head

(3) Sometimes separate, sometimes comMmon read or write head

(4) None of these

fore ¥ fow § W EOOE

(1)&@%/@%@
@) wE @s &) e | e
(3)%%%,25*&%%/?@%3

@y STOER § § iy el

3;5 / COMPSCI_A] | 18 - (NN {Contd...
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Wasting of memory within a paitition due to a difference in size of
partitions is called . '

(1) External fragmeniation

(2) Internal fragmentation

(3) Compaction -

(4) Coalescing

Y & o e ¥ ool & Raee ¥ m (size) ¥ ofdx e &
HNOT SO BU ST & dEy

(1) waREd BrE |

) TRT HTRIE

(3) e |

(4) Rt

Consider an operation of addition. Addition of two numbers, will generate
a sum. If operands are strings and the addition operation produces a third
string by concatenation, this feature is called : '

(1) Inheritance
(2) . Encapsulation

(3)  Polymorphism

(4) Binding

Siteq &t w@hea (operation) ﬁﬁmﬁaﬁaﬁsﬁémmwmi
afe ¥5E {operand) ﬁg‘n%a’ra@r-éﬁmaﬁ@iﬂi@maﬂ%wmﬁﬁ@
SRS G B T O o
(1) vl

(2) umEge

(3). drmiiGeT

(4) argfEn

[HIIAIRAA (Conta...
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An un-normalized relation contains values that are,

(1) Atomic (2) Non-atomic

(3) Classified (4) None of these

S AEES ey gdy (Relation) ¥ W qM- B 8¢
(1) &b - 2) LA

@) wEES 4) wrw N B

Tn SQL, for adding number of hours to a date, which of the following
statements is used 7 : : .

(1) DATE (2) SYSTEM DATE
(3) SYSDATE (4) None of these

SQLﬁmﬁm&@ﬁd%Gﬁgﬁﬁwﬂwm%;

(1) DATE (2) SYSTEM DATE
(3) SYSDATE (4) ¥ ¥ W T
Creating a an __ climinates the need to qualify the object names

 with the schema and provides you with an alternative name for a table,

view, sequence, procedure or other objects.
(1) Alias (2) Synonym

(3) Antonym : 4) Column

aﬂﬁémaﬁﬁﬁm%ﬁ-mﬂﬁ%ﬂmsmw .

ﬁﬁﬁﬁ%dﬁtﬁ%@mﬂ%%ﬂﬁ%{hﬂ%ﬂsﬁtﬁmamaﬂﬁwm

dpfs T S B 6 |

(1) ufwad ' (2) fertm
(3) dafm (4) A

335/ COMPSCI_A} 20 (I (Contd..



mﬂ :‘&357@ 335@ mﬁ'f‘ﬁ :ﬁﬁfﬁ 333541 mﬂ

46

- 47

48

The __ contains information on the data in the database and is
consulted by the DBMS before any data manipulation operation,

(1) Data dictionary (2} Data table

(3) View ' (4) Network catalog

'_Hﬁm%wﬁﬁamﬁqﬁméﬁ%@DBMs
aﬁ'ﬁc‘iﬂmaﬁﬁﬁﬁﬁﬁm(operation)ﬂ?{ﬁﬁ%ﬁﬁ'ﬂﬁmfﬁm%l

(1) st Ry (2) e YEw

O S (@) “ead Feam

Hidden surface .algorithm of object based technique is

(1)  Back face removal method (2} Z-buffer method

(3) Both of the above - (4) None of the above

mmmﬁammﬁamwm%

() & ¥ fome Rt ) zomwx Ry

- (3) SwWiwa WY (4) voE W} HF w9

Statrcase effect in straight line is due to —

(1) Aliasing (2) DDA line algorithm

(3) . Transformation (4) None of the above
A Yo ¥ R v o A % 7

(1) Eﬁﬁtrrﬁﬂw (2) DDA wET uwmiriey
G) gwwr @) v ¥ A @

335/ COMPSCLAJ 2 IR Conea...
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49 Which of the following is not a context free grammar component 7

(1) Terminal symbols (2) Non-terminal symbols

(3) Production rule @) List

a%ﬂmza“&wﬁwzﬁ!_%wqﬁ%?

1) i s (2)31?{:&%%@?!

(3) WeE™ T | 4 W=

50 If scaling in X direction is by 2 units and in ¥y direction is by 3 units,
and translation in X direction is by 4 units and My direction by 5 units.
The result of a point (2, 2) scaled and then translated s '

1y 8, 1D @) (8, 15)
¢). .19 @ (10, 10)

H&x%mﬁﬁﬁiﬂztﬂﬁzamyﬁsﬁﬁ3@1‘6@?ﬂa¢aﬁsﬁx%sﬂ,
ﬁ4qﬁizamyﬁanﬁ5qﬁ2%,?ﬁﬁﬁ(z,z)ﬁﬁaﬂ?;mﬁﬁ3

& s ¥
@ 61D | @) 6 19
3 619 @) (10, 10)
51 For a parallel projection the center of projection is always at ,

which makes the projection parallel.
(1) Infinity . (2) Origin
(3) Center (4) None of the above

s G ade () # G (AREEE) W ¥a ehm B
e y om el e e R G IGUSES G

(1) = (2) I/

@) = @ oo ¥ & @ @

335/ COMPSCLA! 2 (TG (Comta--
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53

335/ COMPSCL A] 23

The (Prospective) projection of an object would be —if the center

of projection is between the plane of projection and the object.
(1) Straight

(2) Inverted

(3) Erect

(4) None of the above

e gAY (WasT) @ W, eeRae @ W oN% WieeeE % &g & of
s o (Wrdfed) WeesE @ o

1 v
2) THRs
3) T
4) IHEw # ¥ HF

Dirty bit for a page in a page table —

(1) helps avoid unnecessary writes on a paging device
(2) helps maintain LRU information

(3) -helps to éllow only read on a page

(4)  helps to find incorrect pages

TH U W e R ¥ W H -
(1) Wm%&mﬁm@wmé@qaﬁ%ﬁm
(2) WE & ¥ LRU §uw g o

(3) WaE W ¥ YW UY hEw e & feu

(4) T B E wwa A g A

[HTTIERNE (Coned..
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54 In Ethernet when Marichester Encoding 18 used bit rate s °

(1) Half the baud rate (2) Twice the baud rate

(3) Same as the baud rate  (4) None of the above
smﬁmwmﬁmmmm%aﬁztaﬁ%:
) g & i ol | 2) gfs e @l AT
(3)a‘1‘g‘ta%ﬁa1ra‘< '(@Gﬂfﬁafi.éaﬁé‘qﬁf

55 In the slow start phase of the TCP congestion control algorithm, the size

of the congestion window
(1) Increases exponentially (2) Increases hinearly
(3) Decreases exponentially (4) Decreases linearly

Sl g@maﬁmmﬁTCPﬁaﬁwﬂ@rﬁﬁuﬂﬁﬁaﬁﬁvé‘f

T WS
(1) I LR E] TS (2) fyPratel &
(3) TR T (4) RefraTel =T

56 The degree of CPU utilization -
(1) Increases with increasing degree of multiprogramming
(2) Decreases with increasing degree of multiprogramming

(3) First increases and then decreases with the increasing degree of
multiprogramming ' '
(4) First decreases and then increases with the increasing degree of

multiprogramming
CPUa?taﬂ?imma%ﬁ
) mwwﬁmﬁﬂﬁmaﬁ
@) a%maaqfaﬁmﬁﬂa?rwwﬁ
) qa%a%ﬂaqaawrﬁﬂzﬁtwaﬁﬁsmuaﬁﬁ
) qﬁaﬁﬂﬁaqaamﬁﬂaﬁawa@%ﬁmﬁaﬁﬁ
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59

Which object types are not defined in Linux virtual file system ? o
(1) I'node-obje‘ct (2) Record-object
3) Frle—object _ (4) File system objeét

et (Linux) 3 SUNTE (vn'tual) Tﬁléﬁ fawm o ﬁﬁ‘v'f TE & Gﬂﬁ'ﬁi’
gfomfya & 2 ?

(1) AT (@ fos-amw

(3) .W@ﬁ—m ) (@) wiw frew e

Which of the folloWing is not a characteristic of a Distributed Operating

System ?
(1) Data migration (2) Computation migration-
(3) Process migration (4) None of the above

frer ¥ @ B9 w Rfgeges sl e @ Hiweffes = & 7
(1) =R ARAIH Q) TN e
(3) WEE AEATH (4) IR ¥ ¥ AR AN

Which type of inheritance is not used in Java ?
(1) Multiple Inheritance (2) Multilevel Inheritance

(3) Hierarchical Inheritance  (4) Single Inheritance
P ¥ ¥ oW § TR W ¥ wwEm @ oo ?
(1) i Rl (2) witcemw FTRREE
() ¥arfrmw TR @) R Rt

38T CONMPSCLA 28 TR 1Conta..
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60
61
62

Which method is not used in lifecycle of an applet ?

(1) Start( ) ' 2) Stop( )

(3) Destroy( ) (4) None of the above
qqﬁzméwéwﬁﬁwﬁ-%ﬁﬂmﬁugwﬁm ?
1y () 2 ()

¢y Rmma() @) sriwm ¥ ¥ B

In C++, in which situation inline expansion may not work 7
(1) If function contains static function

(2) If inline functions are recursive

(3) Both (1) and (2)

(4) None of these

Cov v ¥ fru ww ST R e Tl B 2
(1) T e ¥ RRe GRE A

@) T FRIEA HIE fatia &

@ & 33T @

@ vt ¥ ¥ @

Which of -the following architecture uses Hardwired Control Unit ?

(1) CIsC : (2) RISC

(3) VLIW @ SISC

erbrgs Wi e i PrefiRe ¥ & fow srRee ¥ ol E 7
(1) CI8C (2) RISC

(3) VLIW - (4) SIsC

335/ COMPSCLA] 26 Y (Conta.-
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64

335/ COMPSCI_A] 2

Consider an A* gearch algorithm for which h(n)=0, To which of the
following search algorithm js this A* equivalent ?

(1) Greedy best-first search
(2) Depth first search
(3) Uniform cost search

(4) None of the above

T A* gd waniem & faw hn) =0 %, @ i A ¥ 29 @ 9d ganiem
A* & TCET BT 7

(1) W Aw T

(2) =9 we w

@) g e @

(4) SWE ¥ § &g E

Let A= {0, 1} and = A*. Let R= {[}”1”', n> 0}. The languages LUR

and R are respectively
(1) regglar, regular

(2) not regular, regular
(3) regular, not regular

(4) not regular, not regular

at A={0,1} X 1, = oA* T =i R={0”‘1”’,n>0}, @ 9w LUR

qar R OERT ShH9T:

(1) TR, TgER

@) e YR, TR

(3) Tgw, X VLEK

() e Y, A Y

VBN 1Coned...
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Languag¢ rccoomnd by finite qutomation 18 :

/ N

(1) aab* + bab*

(2) aiba + b* |

(3) aat ba + b* 4) Al of - these.

wEAEe AR & eSS W §

(1) aab* + bab*

(3) aat ba + b*

66 Image Quantization is

(D Digitizing the coordinate values

2) Digitizing the amplitude values
(3) Both (1) and (2)

(4) None of these

@) @ (1) T @)
@) wﬁﬁﬁ@iﬁéﬁﬁ
2

oL
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67  Lambert shading is also known as

(1) . Gourand shading
(3) Phong shading

2)
4)

Faceted shading
Plane shading

?rxaés‘r%rr'wﬁmé%ﬂm:ﬁmﬁ%:

(1) T A
(3) wi e

68 Match the following :
(P) SMTP
@ BGP
®) TCP
(S) PPP

Code :
(1) P2, Q_-],_ R-3, 8-5

@) Pl Q4, R2, 85

() P-1, Q4 R-2, S-3
4) P-2, Q-4, R-1. §-3
‘?!Ff-_a'ﬂTl‘{ :

) smTp

(@ BoP

(R TCP

(S) rpp

T

(1) P2, Q-1, R3, §-5
(2) P-1,Q4, R-2, §-5
() P-1, Q4, R2, $3
@) P2, Q-4 R-1, §-3

' 335/COMPSCI_A] -

()
(4)

(D
(2)
3)
(4)
)

1y
@
3)
@
)

29 -

e (31
@?Q‘rf%"rr.

Application Layer
Transport Layer
Data Link Layer
Network Layer

Physical Layer

R dt
FARRICER e
e fHw @ay

b e

frfrea dax

(WM tConed..
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71

The number of leaf nodes in a rooted tree of # nodes, with each node
having © or 3 children is - o

1) (2n+1)/3 B @)  ni2

3) (n-1)/3 @ (-2

qzﬁ@g?:tmffnﬁrq&r%,aaﬁﬁﬁgﬂomsaﬁ%,wﬁ

(1) (2n+1)f3 2) ni2

6 (-1)/3 @ -2

For merging two sorted lists of sizes m and n into a sorted list of size
m+n, we require comparisons of :

1)y O @) oM

3) O(m+n) @ Olog(m) * log(®)
ammm.anﬁﬁqummmﬂma&m
% fro g frq FART d e ¥

(1) O S, @ oW

3) O@m+n) (4) O(og(m) + logm)

Which of the folowing algorithms solves the all-pair shortest path
algorithm ? ' :

(1) Dijkstra's Algorithm (2) Floyd's Algorithm

(3) Prim's Algorithm (4) Warshall's Algorithm
e ¥ & GO ST aﬁemqm&wmﬁm?‘
(1) Teomg T () wiEs T
(3) T TEEREA (4) aRIEE T
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72 Stress testmg is
(1) Testing in stress _
(2) Testing by removing some errors during searching for a bug
(3) Done by running software for 24 hours
(4) None of these

(1) WE & e T Hem :

2) T g & I PP wd B e H @ AW Al R
(3) WWAGT B 24 HE GAT HT I@

(4) Ui § A wE

73 The elaboration of the acronym SCM is :
(1)  Software Change Management
(2) Sofiware Configuration Management
(3) Software Control Method
(4) None of the above

SCM &1 [ W & ¥
(1) Wedur o9 e
(2) TFSIT BERTIE e
() dERR T dus
(4) Iu0F F F @i T8

74  Which one of the following address space does not allocate 8k

memory 7

(1)  1000-2FFF (2) 5000-6FFF

(3)  5000-5FFF (4) 6000-7FFF

Prefifed & & o w odw @w sk W0 @ Fraqw € w@r ?
(1) 1000-2FFF (2) 5000-6FFF

(3) 5000-5FFF ‘ (4) 6000-7FFF

75 Which of the following sorting procedures is the slowest 7'

(1) Quick sort (2) Heap sort
(3) Shell sort (4) Bubble sort
e & & 3w @ @i vittee e S ¥ 0
(1) FrE®w g (2) ¥ G
(3) W we (4) 98@ wid
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